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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 33 questions.

e Please write down the Serial Number of the question before
attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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This question paper contains 83 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

Multiple choice questions / Fill in the blanks/Direct questions :
contains total 12 questions of 1 mark each. Answer
any 10 questions.

Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.

Short answer type questions : contains total 7 questions of 8 marks
each. Answer any 5 questions.

SECTION B

Long answer /| Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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Answer any ten questions from the given twelve.

1.
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Which one of the following is not correctly matched ?

(a) Positive drive — Belt drive

(b)  High velocity ratio — Worm gearing

(¢)  Non-parallel and Non-intersecting shaft — Spiral gearing
(d)  Gear train in clock — Reverted gear train

e IefEd T, oifafea gRa T IR 9 fEaw wiwe F 9 o e 5
o 3y = =1 w4 1
(%) &1 9 (@) di-ugr =

(m) == = (a) firr EeE

For constant velocity ratio, positive drive with large distance between
driver and driven shaft, one would use

(a) Rope drive (b)  V-belt drive

(¢)  Chain drive (d)  Geardrive

o grEa 3R g5a i 31 Al 2 | 1
(%) uitwifea, Tt e

(@) Af-uifafes, fem

(m) uitwfea, oo

‘(Er) - AiA-uitates, af-fea

Chain drive is referred to as or drive.

(a)  Positive, No Slip

(b)  Non-Positive, Slip

(¢)  Positive, Slip
(d) Non-Positive, Non-Slip
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A Cochran boiler is and fire tube type of boiler.

(a)  Horizontal and Multitubular
(b)  Vertical and Multitubular

(¢)  Vertical and Single Tubular
(d)  Horizontal and Single Tubular

IR | “SA1-3116 wih” + Fd Frgenw I BT R |
(%) W (g) Frmor (@) aueE e
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The function of “Blow-off Cock” in a Boiler is to from the Boiler.

(a)  Cut off the pressure (b)  Control the temperature

(¢)  Remove the sludge (d)  Remove the water

mmﬂmmwﬁamwmmﬁwﬁm%
(%) arftre

(@) =H

(M) =

() =t ST, et oy

The pressure produced by Water Tube Boiler in comparison to Fire Tube
Boiler is

(a) Higher

(b)  Lower

() Same

(d)  Sometimes Higher, Sometimes Lower

1
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An Impulse Turbine

(a)  Is most suited for low head
(b)  Makes use of draft tube

(¢)  Isnot exposed to atmosphere

(d) Operates with initial complete conversion of pressure head to

velocity head
FAM, FIEE Ta Yo @ 61 fafime nfy Frafafea @ & E2
§ B R | i
(%) SmrE (@) 3=
(M) W (7) v @t
The specific speeds of Kaplan, Francis and Pelton Turbines are in
order.
(a) Increasing (b)  Decreasing
(¢c) Same (d)  All of the above
et sm.d. ™/ 1 FOwE oue Fefafed 4 @ 3R
%1 UG Bl 8 | 1

(%) WX alegH, FAREE diegd

(@) Tocivet 1 $a Jicqd, FAEg diegd

(M) foeve #1 Fa aieym, W aieqy

(9) A Jicqy, EW< aieqd

;Fhe Compression Ratio of an I.C. Engine is the ratioof _____ to

(a) Swept volume, clearance volume

(b)  Total volume of cylinder, clearance volume
(¢)  Total volume of cylinder, swept volume

(d)  Clearance volume, swept volume
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Which of the following cycles is associated with petrol engine ?

(a)  Constant Pressure

(b)  Constant Temperature

(e) Constant Volume

(d)  Constant Pressure and Constant Volume

11. T Hawesfen s § 78 2 1
(%) fewe (@) firR st
(M) =Afgen e (7) fU=m
A reciprocating compressor does not consist of
(a)  Cylinder (b)  Gear box
(c) Connecting rod (d) Piston

12. ﬁ%ﬁﬁﬁ%mﬁ@ﬁa%m%mmm%: 1
(%) s (@) =%

(1)  gASER (F) TS Uew

The type of tractor employed for excavating and moving the earth is

called

(a) Crane (b)  Screw jack

(c) Bulldozer (d)  Road roller
ﬁqwmf#ﬁﬁr{fﬁawﬁ%wﬁﬁm 2x5=10

Answer any five questions from the given seven.

13. @mﬁ@ﬁmmnﬁmwﬁﬁm@mﬁﬁﬁmﬁn (=Te)
IfFal & 99 ST | 2
Name the different driving elements used for transmission of motion and
power from one shaft to another.

14.  GA 951 9167 T 319 UgT |TeM § 37 45y | 2
State the difference between Open Belt and Cross Belt drive.
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15. HRR S[E SI9eR 991 8 8 ?
What are the Fire Tube Boilers ?
16. ST # Sigeri & SN AR, |
Give the use of boilers in industries.
17. T&YH @A § 19 =1 THeAd & ?
What do you mean by Reaction Turbine ?
18. AR qEd 3 Td ST g 3R A gt iR waTsy |
Give two differences between Internal Combustion Engine and External
Combustion Engine.
19. oS, IR # v e S 39 §ane |
Give the use of Fly wheel in an 1.C. Engine.
fou T w7 @ et ot Al % I SR |
Answer any five questions from the given seven.
20, T ITeH i g | UgT 90 o oy fofey |
Write the merits of Belt drive over Rope drive.
21. Sefad W ¥ 9 = qEAA § ?
What do you mean by Velocity Ratio ?
22. EgoR HIEeT % & fafeT |
Write the functions of Boiler Mountings.
23. EESIfeTeh TS & AN AT |
Give the applications of Hydraulic Turbines.
24, SHEET Y AT FIT THIAA B ?
What do you mean by Compressor ?
25. 3fm o 3faee fawen %1 wR fafew |
' Write the function of Ignition System of an Engine.
26. el ofw =1 38 & U 9 H1 T F TR Ford RS w1 S @
=1feT ?
What factors should be taken into consideration while selecting a crane
for lifting a job ?
106 7 P.T.O.
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SECTION B

Answer any five questions from the given seven.

27.

28.

29.

30.

31.

32.

33.
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What do you mean by Simple Gear Train ? Explain with sketch. Write
merits and demerits of gear drive over chain drive.

“Saenie 3N foermien sige’ S Frifafy # wwo fom 6 gaEa ¥ guEms |
With the help of neat sketch, explain the working of “Babcock and Wilcox
Boiler”.

ETE 1 i F R ST R 2 wee T A mEwa | S @
TETEA o HETEY THART |

How are turbines classified ? With the help of neat sketch explain the
working of “de Laval” Turbine.

s o i HemaT ¥ Yoo TtaTsd il GiEAl UE HEEY % TR |
With the help of neat sketch explain construction and working of Pelton
Turbine.

Yoret 3R T Dot IRA F iR TS | s o Y wEEa ¥ A
& wrdfafy smzmsT |

Give the difference between petrol engine and diesel engine. With the
help of neat sketch, explain the working of two-stroke engine.

firger Wasfen SR i T @ el w5 @ Ty f gwEa @

HHEATRT |
Wiith the help of neat sketch, explain the construction and working of
simple reciprocating compressor.

s g 6 ggEar ¥ gafom 1= A Y T T8 SR 99T |

With the help of neat sketch, explain construction and working of
travelling gantry crane.

5X5=25



